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Only using positive exponents, what is the simplified form of the
expression
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Which of the following equations are true? Select all that apply.
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Which of the following equations is true? Select all that apply.
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Which of the following expressions are equivalentto X*? Select three that
apply.
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The graphs of the equations y =

2
~——andy=x+1intersect at the points (-5, —4) and (4, 5). What are the
x

2
solutions to the equation — =x+12
x

x=-5andx=—4
x=-5andx=4

x=5andx=—4

andx=4
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The graphs of the equations.

1
y=ox+ 4and y=-9x2 +2 do not intersect. How many solutions does the

1
Muallon7x+4=—9x2+2have?
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Suppose x = 9 is a solution to the equation f{x) = g(x). If a table of values for
the equation y = f(x) contains an x-value of 9 and a corresponding y-value
of 18, then which of these statements is correct about a table of values for
the equation y = g(x)?

Ifit contains an x-value of 9, the corresponding y-value must be 9.

Ifit contains an x-value of 9, the corresponding y-value must be 18.

Ifit contains a y-value of 18, the corresponding x-value must be 9.
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Ifit contains a y-value of 18, the corresponding x-value must be 18.
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Consider the functions f(x) = 3x? + x - 5 and g(x) = 2x? + 4x - 1.

Select all the points where the graphs of these two functions intersect.
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In the process of solving an equation, Peyton arrived at xV5 = V20, |f he
next divides both sides of the equation by V5, what should he do after that,

and why?

ER
Muttiply the right side of the equation by V20 to eliminate the radical sign
1

V3o 1
in the denominator, since

ES
Multply the right side of the equation by V to eliminate the radical sign in

VB =1
the denominator, since '3

]
Multply the right side of the equation by V5 to eliminate the radical sign in
¥5

the denominator, since V5

e

Multiply the right side of m59quamn by V20 to eliminate the radical sign
VI
in the denominator, since V20
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A taxi driver charges $10.00 to board his car and $4.00 for every mile driven
(x) which is represented by the linear equation below.

py=4x+10
The variable p represents how many people are in the taxi so that they may

split the bill evenly. If two people will be riding in the taxi, what would be
the first step in solving the linear equation for the cost of one person?

subtracting 2 from both sides because the cost is being cut in half
multiplying both sides by 2 because the cost s being cut in half

dividing both sides by 2 because the cost is being cut in half
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dividing only the right side by 2 because the cost s the only thing being
cutin half
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Brian makes the claim that x = 6 is the solution to the equation 4(5x - 12) - 7x
=5x. His Work to support his claim is shown below.

: 4(5x-12) = Tx = 5x.
: 20x-48-7x=5x

: 20x-7x-48=5x

: 13x-48 = 5x

: 13x-13x - 48 = 5x = 13x
: 0-48=-8x

Which of the following justifications can be used to justify and support
Brian's work? Select all justifications that are correct.

Step 11s justified by the distributive property.

Step 21s justified by the commutative property.

Step 51s justified by the property of additive inverses.

[
[
) step 4 s justified by the symmetric property.
[
[

Step 6 Is justified by the associative property.
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=16. He

Nikolai claims that the solution to the equation x? — 15x =16 is x
shows the following steps to prove his claim.

x?-15x =16
15x-16 =0
Step 2: (x+1)(x-16) =0
X+1=00rx-16=0

x=-lorx=16

Determine whether each statement below justifies each step in the proof. Select True
or False for each statement.
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Step 1is justified by the Addition and/or Subtraction Properties
of Equality.

Step 2is justified by the Perfect Square Trinomial Factoring
Pattem

Step 31s justified by the Zero Product Property.

‘Step 4is justified by the Addition and/or Subtraction Properties
of Equality.

True

False
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Ashley solves the equation 0.4(2.5x - 8) =—4 and claims that the solution is x =-0.8.
The table below shows the steps she took and the reasons for each step.

Step. Equation Reason
04(25¢-8)-—4 Given
x-32-4 Associative Property
x-32+32-4+32 ‘Addition Property of Equality
3 x=-08 ‘Subtraction Property of Equality

Determine whether each statement below is true or false regarding the reasons given
in the table. Select True or False for each statement.
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The reason for Step 1 is correct.

The reason for Step 1 should be the Distributive Property.

The reason for Step2 is correct.

‘The reason for Step 2 should be the Additive Identity Property.

The reason for Step 3 is correct.

‘The reason for Step 3 should be Additive Inverses Property
andlor Combining Like Terms
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Solve and eliminate any extraneous solutions.

y=3.andy=-3
y=-3
y=3

y =8
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Which of the following has an extraneous solution?
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Which of the following represents an extraneous solution for the equation
below?
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A student argues that x” is equal to the cubed root of x2. What previously
established rule supports the student's argument?

the rule about the behavior of fractional exponents
the rule about the behavior of positive bases.
the rule about the behavior of square roots

the rule about the behavior of negative bases
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Antoine claims that the square root of any nonnegative number x can be expressed
1
as 3

Determine whether each proof method below can be used to prove the claim. Select
Yes or No for each proof method.

Yes No
‘show that (x%y%s equivalent tox [e] [e]
showthat 2 (3 is equivalent to x o o
showthat 3 - }isequialenttox O o

showthat 3+ disequalentox O O
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The table shows the values of exponential numbers with base 27.

x|o

1
3

71

278

Which of the following best explains why the value of 273 is 2437

A number with an exponent of 1 is the same as the cube root of the:

number. The cube root of 27 is 3, 50 273 = 3%, which is 243

In the table, each time x increases by 3 . the value of 277 is mutiplied by
27.

Anumber with an exponent of  is the same as 5 times the cube root of
the number. The cube root of 27 is 3, 50 5v/27 = 3° , which s 243

In the table, each time 27° doubles, the exponent is multiplied by 3
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Arlene claims that the ki root of x can be expressed asx* Which equation
below justifies Arlene's claim?
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Three claims are made about2 3.

Claim 1 states that
s 101 01 1 1

23 =(23.23.23.23023)= (3535 - % - 3 - 35) = (33)°.

s
3. @x2x2x2x2) _ 25
Claim 2 states that @x2x2) 23

s 111
Claim 3 states that 23 = (25 25 25) = (% - 3 - 93) = (%)%,

Select all statements which correctly analyze a claim made and identifies the
part of the claim that is correct or incorrect.

) ciaim 1 is correct and the work shown supports the claim.

Claim 1 is incorrect because 23 = (3¥2x2x2)
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. Claim 2 is correct and the work shown supports the claim.

. Claim 3 is correct and the work shown supports the claim.

[ ] s H
Claim 3 s incorrect because 23= (22 -2-22)3 = 32°





